SEIUX=2 A RS
Shgdet AR =4
ANSEL & AME= (S M)
A EB . GRS - NIRAE - BES ofl &t i HIDEZ
It 64,587 33,600 30,987
3t NS =8 39,600 33,600 6,000
S & gz 39,600 33,600 6,000
HOHE & NS9ed S5t 39,600 33,600 6,000
201 Ler=a| 16,000 8,000 8,000
01 AtR2teld] 16,000 8,000 8,000
OHIIE R =29 10,000
O HINEREAR 23 6,000
202 Ol 5,600 7,600 22,000
01 2HOIHI 5,600 7,600 22,000
OTHINE =& 5,600
303 Z&a=s 18,000 18,000
01 Za= 18,000 18,000
OTHINE 2a=Atdl U= Aldd= 3,000
OTMINE R%=Al2 H2 D22 12,000
O HINE FEESFE AL Jjelxa=z 3,000
SH(AMSEA D) 24,987 0 24,987
=1sl 24,987 0 24,987
AN2g Jl=3l 24,987 0 24,987
201 eEr=2E | 17,541 0 17,541
01 AtR2teld| 17,541 0 17,541
O N2 AIR22/H| 17,541
202 04l 4,446 0 4,446
01 2LHOIHI 4,446 0 4,446
OFAEY =U0Y 4,446
203 BR =8| 3,000 0 3,000
4 EAEZER=AH 3,000 0 3,000
©1521 Oolat 250,000 x 12 3,000
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